
¶¯�d¼Ì« |uYÁ�d¼Ì« ¶ËÂve�½Z»� |uYÁ �ZÌ¿��Y|¬» ÓZ¯�s�� ÓZ¯�|¯ ¦Ë{�

˺̊˹˼�˹˻�˼˺ ΩΩϋ 40,000 M12x20-24or25�����Εέ΍�ϩέϬϣ��ϥϳϣί�ϝΎλΗ΍�ϪϳΎ̡ 251102 1

˺̊˹˼�˹˻�˼˺ ΩΩϋ 800 M12X25-30-A4-80�����Εέ΍�ϩέϬϣ��ϥϳϣί�ϝΎλΗ΍�ϪϳΎ̡ 251112 2

˺̊˹˼�˹˻�˼˺ ΩΩϋ 100 20x30x130Ga����ϩ̫ϳϭ�αϧ΍έΗ�ϥϳϣί�ϝΎλΗ΍�ϪϳΎ̡ 251104 3

˺̊˹˼�˹˻�˼˺ ΩΩϋ 4,000 M12x20-24or25-A4-80�����Εέ΍�ϩέϬϣ��ϥϳϣί�ϝΎλΗ΍�ϪϳΎ̡ 251106 4

˺̊˹˼�˹˻�˼˺ ΩΩϋ 400 M12x25-30�����Εέ΍�ϩέϬϣ��ϥϳϣί�ϝΎλΗ΍�ϪϳΎ̡ 251103 5

{{�³�|Ì«��Â¯~»�ÉZÅ�Ä³�]��{�ÃZ´�Á�§�
�d¯���½M���Âe�¶ËÂve�¶]Z«�ªÌ«{�½Z»��c�Â�ÀËY��Ì£��{�|¿{�³�¶ËÂve�Ã|���¯}�½Z»���{�©Â§�¹Ô«Y�d�Y�¹�Ó�,��Z°¿Z¼Ìa�[Zzf¿Y��{�¹Ô«Y�¶ËÂve�½Z»��dÌ¼ÅY�Ä]�dËZÀ��Z]

cZvÌ�Âe

 ¹|¬» ¾¼�ZË    Ã|ÀÀ¯ ºÌ�Àe
É�Z°��Ì»

 xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» 1402/12/12

{Â� Ã{Y{�Y�« ([) d¯Za �{

([)ZÆ] ¹Ô f�Y ±�]  
 �xË�Ze����
��
��

���
�½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)

¹Ô f�Y Ã�Z¼�




